## The Quadratic formula

**Goal**: to use the quadratic formula to solve quadratic equations.

For any quadratic equation of the form 
$$a \times b + b \times + c = 0$$
, where a, b, and c are constants with  $a \neq 0$ , the solutions are ...

$$x = \frac{-b \pm \sqrt{b^2 + ac}}{2a}$$
quadratic formula

b) 
$$5y^{2}+12y=180$$
 $x = 5, b = 12, c = -1$ 
 $y = \frac{-12 \pm \sqrt{12^{2}-4(5)(-1)}}{2a}$ 
 $y = \frac{-12 \pm \sqrt{12^{2}-4(5)(-1)}}{2(6)}$ 
 $y = \frac{-12 \pm \sqrt{164}}{10}$ 
 $y = \frac{-12 \pm \sqrt{164}}{10}$ 
 $y = -6 \pm \sqrt{41}$ 

$$\begin{array}{c} (2) \quad 2 + \frac{1}{x^{2}} = \frac{4}{x} \\ (2 + \frac{1}{x^{2}}) = \frac{4}{x} \cdot x^{2} \\ (3 + \frac{1}{x^{2}}) = \frac{4}{x} \cdot x^{2} \\ (4 + \frac{1}{x^{2}}) = \frac{4}{x} \cdot x^{2}$$

2 0.29 or 1.101

$$f(x) = 5x^{2} + 12x - 1$$

$$y = 5x^{2} + 12x - 1$$

$$\frac{y-int}{y} = 5(0)^{2} + 12(0) - 1$$

$$= -1$$

$$(0,-1)$$

$$y = 5(0)^{2} + 12(0) - 1$$

$$= -1$$

$$(0,-1)$$

$$y = 5(0)^{2} + 12(0) - 1$$

$$0 = 5 \times^{2} + 12 \times -1$$

$$0 = 6 + 12 \times -1$$

$$0 = 6 + 141$$

$$0 = 6 + 141$$

$$0 = 6 + 141$$

$$0 = 6 + 141$$

$$0 = 6 + 141$$

$$0 = 6 + 141$$

$$0 = 6 + 141$$

$$0 = 6 + 141$$

